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COORDINATE 
1.  If the mid point od selection of a straight line intercept 

between the axes is (1,1), then the equation of the line is 
given by 

(a) 2(x + y ) =1    
(b) x + y = 1  

(c) x + y = 2   

(d) x – y = 1  
(e) none of these 

2.  The straight lines x + y =0, 3x + y – 4 =0, x + 3y – 4 =9 
forms a triangle which is 

(a) Isosceles    
(b) Equilateral 

(c) Right Angled   
(d) none   

3.  The equation of a line passing through (4,-5) and 

perpendicular to the line 3x + 4y + 5 =0 is given by 
(a) 4x + 3y – 31 = 0  

(b) 4x + 3y + 31 =0 
(c) 4x – 3y – 31= 0  

(d) 4x – 3y + 31 = 0 
(e) none  

4.  The straight line passing through the point of intersection 
of 4x – 3y = 1 and 2x – 5y + 3 =0 and equally inclined to 

the axes is- 

(a) x + y =1  
(b)2x + y =2  

(c) x = y  
(d) x = y + 2  

(e) none 
5.  the co-ordinates of the foot of the perpendicular drawn 

from the point (2,3) to the straight line x+y=11 are 
(a) (4, 7)  

(b) (6, 5)  

(c) (7, 4)  
(d) (5, 6) 

(e) none 
6.  If the lines x + y =6, x – y = 2 and 3x +ky = 14 are 

concurrent then the value of k is 
(a) 1  

(b) 2  

(c) –1  
(d) –2  

(e) none 
7.  The area of the triangle formed by the lines y=x, y + x = 

2 and x = 2 is given by 
(a) ½  

(b) 1  
(c) 2  

(d) none  

8.  The equation of the straight line passing through the point 
of intersection x + 2y + 3 = 0 and 2x + y + 4s = 0 

perpendicular to the line 2x + 2y = 5 is  
(a) 2x + 3y + 5 = 0  

(b) x + y +2 = 0 
(c) 2x – y – 2 =0  

(d) none of these 
9.  The lines 3x + 4y + 6 =0, 6x + 5y + 9 =0 and 3x + 3y + 

5 =0 meet at the point 

(a) (-2/3, -1)   

(b) 1/3, -2)  
(c) (2, -3)   

(d) (-1/3, -5/4) 

10. The distance between the line 9x + 4y = 31 and 9x + 4y 
+ 13 = 0 is 

(a) 1 (b) 2 (c)3 (d) 4 (e) none 
11. The equation of the line passing through  

(p sec a, 0) and (0, p cosec (a) is 
(a) x sin a + y cos a = p  

(b) x sec a + y cosec = p 
(c) x cos a + y sin a = p    

(d) x cosec a + y sec a = p 

(e) none of these 
12. The line joining (1,2) and (2,7) is divided by the line 3x + 

y = 9 in the ratio- 
(a) 3:4 Externally  

(b) 3:4 internally 
(c) 4 : 3 Externally  

(d) 4 : 3 internally 
(e) 1:1 internally’ 

13. The angle between the lines 2x – y + 3 =0 and x + y – 2 

= 0 is 

(a) tan-11/ 3  (b) tan-1 (–3)  

(c) tan-1 3   (d) tan-1 4  

(e) None 

14. The area of the parallelogram formed by the lines 4y – 3x 
= 7, 3y – 4x = -7, 4y – 3x = 21, 3y – 4x = -14 is 

(a) 7 sq units  
(b) 14 sq units   

(c) 21 sq units 
(d) none of these  

15. The image of the point (3,8) in the line x = 3y = 7 is 

(a) (-1,2)  (b) (1, -2)  
(c) (1,4)  (d) (-1,-4)  

(e) none 
16. The co-ordinates of the foot of the perpendicular from 

origin to the line 3x + 4y = 25 are 
(a) (3 , 4)  

(b) (4 , -3)  
(c)(3/4, 3/;4) 

(d) (4,3)   

(e) none 
17. If A (1,2), B (-3,2), C (3, 6) ten angle A is 

(a) 45   

(b) tan-1 (-2)  
(c) tan-1 (-1/2)   

(d) tan-1 (-1/2)  
(e) none of these 
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      29.  efveoxMeebkeâ pÙeeefceleer
1. Ùeefo Skeâ jsKee pees oesvees De#eeW kesâ yeerÛe ceW Skeâ Devle:KeC[ keâešleer

neW Je Devle:KeC[ keâe ceOÙe efyevog (1,1) neW, lees jsKee nesieer-

(a) 2 1( )x y+ = (b) x y+ = 1

(c) x y+ = 2 (d) x y- = 1(e) keâesF& veneR 

2. meerOeer jsKeeÙeW x y+ = 0, 3 4 0x y+ - = , x y+ - =3 4 9 Skeâ ef$eYegpe 
yeveeleer nw, pees efkeâ nw—

(a) meceefÉyeeng (b) meceyeeng (c) meceuecye
(d) FveceWs mes keâesF& veneR

3. Jen jsKee pees efkeâ efyevog ( , )4 5-  mes iegpejleer nw leLee jsKee 
3 4 5 0x y+ + =  kesâ uecyeJeled nw Jen nesieer—

(a) 4 3 31 0x y+ - = (b) 4 3 21 0x y+ + =

(c) 4 3 31 0x y- - = (d) 4 3 31 0x y- + =

(e) FveceW mes keâesF& veneR

4. Jen jsKee pees efkeâ jsKeeDeeW 4 3 1x y- =  leLee 2 5 3 0x y- + =  kesâ
ØeefleÛÚso efyevog mes iegpejleer nw, Jen nesieer—

(a) x y+ = 1 (b) 2 2x y+ = (c) x y=

(d) x y= + 2

(e) FveceW mes keâesF& veneR

5. efyevog (, )23  mes jsKee x y+ = 11 hej [euess ieÙes uecye kesâ leue efyevog
neW ies—

(a) ( , )47 (b) (6,5) (c) (7,4) (d) (5,6)

(e) FveceW mes keâesF& veneR 

6. Ùeefo jsKeeÙeW x y+ = 6, x y- = 2 leLee 3 14x ky+ =  Skeâ otmejs keâes
Skeâ ner efyevog hej ØeefleÛÚso keâjleer nw, leye k keâe ceeve nesiee—

(a) 1 (b) 2 (c) – 1 (d) – 2

(e) FveceW mes keâesF& veneR

7. jsKeeDeeW y x= , y x+ = 2 leLee x = 2 mes yeveeÙes ieÙes ef$eYegpe keâe
#es$eheâue nesiee—

(a) 
1

2
(b) 1 (c) 2 (d) FveceW mes keâesF& veneR

8. Jen meerOeer jsKee peesefkeâ jsKeeDeeW x y+ + =2 3 0 leLee 2 45 0x y+ + =

kesâ  ØeefleÛÚso efyevog mes iegpejleer nw leLee jsKee 2 2 5x y+ =  kesâ uecyeJeled
nw, Jen nesieer—

(a) 2 3 5 0x y+ + = (b) x y+ + =2 0

(c) 2 2 0x y- - = (d) FveceW mes keâesF& veneR

9. Jen Skeâ efyevog efpeme hej jsKeeÙes 3 4 6 0x y+ + = , 6 5 9 0x y+ + =

leLee 3 3 5 0x y+ + =  efceueleer nw nesieer—
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10.jsKeeDeeW 9 4 31x y+ =  leLee 9 4 13 0x y+ + =  kesâ yeerÛe keâer otjer
nesieer—

(a)1 (b) 2 (c) 3 (d) 4

(e) FveceW mes keâesF& veneR

11.Jen jsKee pees efkeâ efyevog ( sec , )p a 0  leLee ( , cos )0 p ec a  mes
iegpejleer nw, nesieer-

(a) x a y a psin cos+ = (b) x a y eca psec cos+ =

(c) x a y a pcos sin+ = (d) x eca y a pcos sec+ =

(e) FveceW mes keâesF& veneR

12.jsKee 3 9x y+ =  oes efyevogDeeW (, )12  leLee (, )27  keâes efceueeves Jeeueer 
jsKee keâes Devegheele ceW efJeYeeefpele keâjleer nw—

(a) 3:4 yeenj mes (b) 3:4 Devoj mes

(c) 4:3 yeenj mes (d) 4:3 Devoj mes

(e) 1:1 Devoj mes

13.jsKeeDeeW 2 3 0x y- + =  leLee x y+ - =2 0 kesâ yeerÛe keâe keâesCe
nesiee–

(a) tan -1 1

3
(b) tan ( )- -1 3

(c) tan -1 3 (d) tan -1 4 (e) FveceW mes keâesF& veneR

14.jsKeeDeeW 4 3 7y x- = , 3 4 7y x- = - , 4 3 21y x- = , 
3 4 14y x- = -  mes yeveeÙes ieÙes meceevlej ÛelegYe&gpe keâe #es$eheâue
nesiee—

(a) 7 sq unit (b) 14 sq unit(c) 21 sq unit

(d) FveceW mes keâesF& veneR

15.jsKee x y= 3  kesâ meehes#e efyevog (, )38  keâe Øeefleefyecye nesiee—

(a) (–1, 2) (b) (1,2) (c) (1,4) (d) (–1,–4)

(e) FveceW mes keâesF& veneR

16.efyevog (, )00  mes jsKee 3 4 25x y+ =  hej [eues ieÙes uecye kesâ
leue-efyevog nesieW–

(a) (3,4) (b) (4, –3) (c) 
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(e) FveceW mes keâesF& veneR

17.Ùeefo A( , )1 2 , B( , )-3 2 , C ( , )3 6  nw, leye keâesCe A nesiee—

(a) 45° (b) tan ( )- -1 2 (c) tan - -æ
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